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Seore Seore
Answer any T gquestions from 1 to 9. 1 ayme 9 cunnayen sanaymgin apnaelays
Fach curries 1 score. (7x1=T) ‘Fwﬂ"‘pmw-awwmh; o
. For an acid solution ; 1. sy megariled
ay pl1=7 a) pH=7
b pll=7 by pll=7
c) pH=7 ) pll=7
dy pH= 14 dy pH = 14

. Which one af the Tollowing is an
exlensive property !

w) Temperalure

by Pressure

¢y Hean capacily

d) Molar heat cupacity

. The number of radial nodes for 3p
orbital 15

a
Bl
c} 2
dy 3

Which umong the [ullowing cannot
act bath as Bronsted acid and base 7

al HO
b} NH,
o) OOy
d) HSO;

. The type of hydrogen honmding present
in O-nitrophenol is

2. moed eoo@ynruail agenrmio
oL am g T
a) grweaizoend
) o
C) monkuT;

d) smoasd aoasusle

3, 3pectenpelne cooed STopeRns
o DN
a) 0
by L
¢} 2
4 3

4, moee aomyrele sieussd
SO A2 jrulimaikeennt

antemn o gy
u) 1,0

b} NH,

o) OOy,

d) HS0;

£, gafawmopemesoniGmidlenss eaannu

R e AT,
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6. Write the stock notEtion of Cyly.

7. The chemical farmyls of heavy water
is

8. The meta] present in Chlorophyll is

9. Borazine is commonly known as _

Answer any 10 questions from 100 22,
Euch carries 2 seores. . (10=2=20)

0. State and illustrate the Jaw of definite
propuortion. {2)

1. The first ionizution enihalpy of boron
is slightly Tess fhan th af beryllium,
even though boren has greater nuclear
charge, Why ¢ i)

12, 4] What iscnmpmssihr'iity factor 7 (13
bl CGive the valye of compressibility
factor of & gas at (he Bovle

Lermperature, {1y

13 A vessel of 120 m) CHPACILY comtains
a certain amount of gas at 35°C gnd
L2 bar pressuee. e A is transferred
o anuther vessel ol volume |50 mi a1
35°C. What jts Pressire ¥ 3]

4. Account for the following ;
a} Maoist soil grains are puiled
together when they are taken out
of water. (1)
B Window panes af old buildings
ere thicker at the horom than at
the top, {1}

I
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¢ e sy l

DTy

- i mEEl By sanang

\ snEemiam e e L

__agyiioent

2@t 21 ceswjgy 22135 emgldh

agomelags 10 CRERET §aRnne a8,
2 epad ullang, {1U=2=20)

10,

11

sl @vmiaism ofloae indigontigl
g, (1]

seroaazarnd dySy mygoed aode
Bedmaslenn Terad s mmemaa
s e T T L N————
BNUIET gy sy T 2)

a) B L L e (1)

bh B0 g oy b
1 Saimian el SRISEamTIEE
TR Ry, (}

- 1 20ml oypegmsna ay o epmami sec

Envgeodops 1.2 quod m%g@ﬂﬁ!
el @DEAL 0 e 2t ]
Mmriem 3533C o 150 mi “UnJoan

"R alaymelased’ nogienucd
marlen] odga Ry {2)
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14,

0.

1.

2.

Seore

o Lraw the enthalpy disgram for an

exothermic reaction. 2)

a} Dhefine entropy, (1)

by State the thind luw of
thermodymamics. 1)

What are the generalisations

concernmy the direction of reaction

from the value of reaction quatient

(0, and equilibrium constant (K )7 (2)

 Define oxidation and reduction

reagtion in terms of oxidation numiber. {2)

(iive the labotatory preparation of
hydrogen peroxide from barium .

peroxide. 2)
Maich the following : i2)
A B

i) Cick lime a) CaCo,

i) Shaked lime by CaS0L2H,0 -

iii} Lime stope e} CalOH),

iv) Gypsum ) Cary

) List one point of difference
between Lithivm and other alkali
metal, [1h]

b} Give the reasons for difference of
Lithiurn from other alkali metals, (1)

Draw the struciure of K0 anion, 1)

17,

21.

21,

AT U1

Seore
- NG TSGR0 AL e ia
raprboonte | ensuzaime cungp. (2
a) ngegadl Moy lenge. [14]
b1 myrmos mownmlletinge pusgend
Sy, (1

el a0 Sasondledfays () ]
gk nossas ey K jogygnges
ArSkran T moo I HuamonE ey
AR rgeTBa Motk Ty e 7 (2)

T ISRk aET mom b Libirn

MATEE RORlEART MhoG g e

srunenamelled oy o laege. 2y

L BEUTIGe Readdosnag el oflimes

aEanLE®R Aalacieag wlsd

Emmvgo"-."ﬂiu‘mm'w 121

LIRS B ET ST

A B
i} ol ay CaCil,
i) syemime b} Ca%0) 2H O
iii) aygpomieal <) Ca(OIl},
v} g d) Calr

(2}

i) el s off apetens] saanamgs
GRS S O DE

b} aludleemlo? 2 mpdenalanans
gt mimryss ougssamueed

)

(n

Si0" spmemosted resn ruogge. (2
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Scare
Avswer any 7 questions from 23 to 31.
Fach earries 3 scores, (T=3=21)

3wl Which of the following sets of
quantim numbers are aol possible 2 (1)
i n=0,{=0m=0,5=+%
LiI=0m=0y45=-%

i) n=1.7=1,m=0, s=4+4

il o

Wn=2/=l,m=0s~-1%

) Give reason for vour answer,

2)
1. 5] Mame the tvpe of hybridisation of
carbon atoin in ulkencs. il
b} Explain the hyhridisation of
carhon in ethene molecule, 2)
Faplain the three types of tntermolecular
artractive forces (Van der Waal's
forces) ? (3)
26 &) Predict the nature of the product
ol hydrolysis of sodium acetate.

n
b} pKu of acetic actd and pKb of
ammoninm hydroxide are 4.76
and 4.75 respectively. Calculate
the pH of ammonium acelale

solution. {2)

-
=
o

} Mame and state the principls that
make & qualitative prediction
about the effect of change in
conditions on equilibrium,

What is the effect of temperature
in the following equilibrivm 7 in
2NO, = N0, AH= -572kImal!

&)}

4}

Score
13 aymid 31 cusnwegep exioajengld
agEamseys T agepamilml pemoo s,
3 wrpod allme, (T=3=21)
I3 8) esevcnmymmalsl@ speRs
T yevEes coamerAget miowyme
BB gy
Don=00=0m=0,5=+4
i) n=1,0/=0,m=0,8--%
i o= L=l m=0, s=+4%

by

Wl n=21-1l,m=0,8=-%

h} riismgee pamaEEkn eonam
R
mitaadiry gl 2odaued mge
et e ol [ T R S Te e s
I gyt mraemelionl soderuar Epn
e emangminnaoamsd alo
Aeellijan,
- T T T g A SO e
FuEETEeg | rudsmeruadhrg aueeni )
acilaf rliadlodlaams,

i) emnsoics mressed enaospsod
wunerm gt rmamdedd, musstue bl
ELE - {1}
b)) amerogthad i pKa gjeye 4.76 ge
oyt 473 o aniperr] moemenine anrmgy
arrmingns pll semeneam 2

SR el MM 6S Maan

iy goourrrEimagTdl o eyt

AOBITEIE CEMoTnE (oAl
BT @ ARt T gl (1)
b mose mordflsigm commgamonmun
wied graagna e muouhmeans 7 (1)
2N, = N0, AH=-57.2kImol!

(2}

24, a)

26.

27, a)



Seore
I8, Balance the following redox reaction
using oxidation number method or
inn-electron method
MnO,,, - 20, - Mu®, +HSO,,

(in acid medium} [E]]
8. Describe the classification of covalent

hydrides with example. 3)
30. Give reason for the following :

a) Diamond has high melting point. m
(1)
(1)

bl Toxicity of CO

¢} Boric acid is o weak scid,

31. &) Whichelement of group 14 forms

the most acidic dioxide. L

B) T iz @ gas while Si0), iz a solid. .
Why 7 (2)
Answer uny 3 questions from 32 to 35,

Each varries 4 scores, (3x4=12)

3L wl Wrile the equation for caleulating
the hond urder of 2 molecule. 1)
b}y How bond urder is related 1o the
baond Jength 7 (1)

¢) Be, molecule does not exist.

Explain it using MO diagram. ~ {2)

LRI

Score

mialelges ddnsg

MnOy,, +50,, — Mn* | ~HS0;,_

{omg @l yma) (3
19, cennoedl emnmarllyssans
e BEdaman wardlme o
it e (3
30, nee sy mRIDRS notes AT
) e S yEuerm g (1)
by CO myers ey, i1
c] marclE mge e, i eyrers
e (n
M) V00 wmglee sga oyemncer?
AU RGYTETIAR Senuscaag T
gemaayrrn 7 (1)
b} CO, any cunmsass gomads Si0,
ST ALMISETL i TipREsca 7 (2)
31 oymat 35 USR@eg eainnmagle
apameleye 3 agepemn gemooss me.
4 ampa cbams, [3x4=12)

32 4) emmmomgs ATLITLTEnhs el
SAsiyrnmimgas MU o agrmEa. (1)

b} smumiga e suwmeE iR

wEled agsmam s ea) g

ey, T 1
¢} Be, momogm miesriiaiacrrizy. MO

i (e smdimanen i

Ul ey, [2)
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33, a) State Hesss law of constant heat
SUIIEOALIoT. ()
by Culeulate the standard enthalpy of
combustion of CHLOW , from the
fellowing data.
N G+ 0Oy —)COE,‘:
A H® = -393, kI moel™
i) H,, + %02:,, SHO,
A 1" = -286kdmal !
i) €, +2H,, +%0m- — CHLOH,,
AHY = —#uslImol @
34, a) What is hard water ¥ {n
b Give the reason for hardness of
witler 7 {1)
¢l Explain two mcthods for the
remeval of temporary handness of
WANLEE, ()
350 a) Sodivm carbonale is prepared by

the Solviy process. Expluin the
process with necessary chemical
equation, (3)

)

Why this process 15 not suitable
for the preparation of potassium

carbonate 7 (1

Seore
33 ) eaomfed mudnme Ko G
il (A1}
b} zynes eademdlenn ofunasd
Eeomenila] r_‘HJOH.'II ey |tz
s gyt § AT e,
ip O+ Oy 2 €O,
A HY = =3935k mol ™

. 1
i) Hay, + Eo"si'

A H" = - 286kImel™

-l Hg'oh.l

i) €, 1 3H,, 4 ]-;0_.:_, — CHOH,,
AH = - 238k Jmol ™

3

3 o) edimgsio agrroearn {1}
by e yesikong and e

AT, (1}

4] marElaf oasiels sodns
mlasymimlmas aa nodorarsch
aiadladlene. (2}

35. n) emodery e o Rnoe sl

soberusempoiibadieny o o o
PRDCTCTIHEs e R e ey el iy
ol e 3}
bl Emeis s ot e e
ey EEk AR s

ST (1)
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